

السلام عليكم

كيف حالكم


عندي بريك الحين قلت لنفسي فيه باب مضمون أقولكم المهم فيه وان شاء الله أمور تتحسن

Hyperplasia - atrophy -metaplasia

تعريفها أهم م فيها 

الفرق بين ال benign & malignant مهم جدا

راح يجبلكم الامثلة الموجودة ب ص 9 و10 ويقولكم هذا benign or malignant
ومن وين ال origin تبعه

مثلا

leiomyoma

Benign - smooth muscle

الجدول اللي ب ص 11 انتبهوا فيه على فقرة ال salivary glang بس

فقرة local invasion جدا مهمة

lymphatic ---- carcinoma

hematologic ---------- sarcoma


Dysplasia أول اربع سطور مهمة جدا

carcinoma in situ يحبوه كثير [image: image1.png]




تعريف ال hamartoma جدا مهم

تلاحظوا الاشياء سهلة أهم شي تعرفوا النقاط الرئيسية والتعاريف

الجدول اللي ب ص 17 مو مهم بالمررررة [image: image2.png]




Retinblastoma مهم [image: image3.png]




الجدول ص 19 يغريك انك تسحب عليه [image: image4.png]




RAS - ABL - MYC

م تعرفها لا تجي الاختبار 

CML ----- ABl t (9,22)


burkit lymphoma ----- t (8,14)


Retinoblastoma ------- TUMOR suprressor gene 

تحفظوووووووووه صم

TP 53 ------- guardian of genome

tumor suppressor

regulate appoptosis

familial breast cancer مهم

follicular lymphoma t (14,18

Acromic & azo dyes مهمة وانا أخوكم [image: image5.png]




EBV جدا مهم


Human papilloma virus جدا مهم


paraneoplastic syndrome جدا مهم


Grading --------histopathologic Not clinical

staging ------ clinically in prognosis

TNM مهم جدا


Microscop is the gold standard of cancer disgnosis


24) Which one of the following is a malignant neoplasm:
1) Seminoma
2) Follicular adenoma
3) Fibroma
4) Chondroid hamartoma of the lung.
5) Chondroma.

25) Which of the following finding is most important for the grading of tumors:
1) Presence of metastasis.
2) Size of the tumor.
3) Level of invasion
4) Microscopic pleomorphism of nuclei and the number of mitosis.
5) Presence of tumor cell in the vascular space. 

26) According international TNM classification of tumor designated T3N3M1 : 
1) Preneoplastic condition.
2) Benign tumor
3) Carcinoma in situ.
4) Local invasive tumor
5) Malignancy that has spread beyond the confines of the organ in which it has originated .

27) A lung mass composed of disorganized but mature tissues which are found normally in the lung is called:
1) Choristoma
2) Hamartoma
3) Teratoma
4) Blastoma
5) Seminoma

28) Which of the following carcinogens is the most likely cause of lung cancer in smokers:
1) Nitros amines.
2) Azo dyes
3) Aflatoxins
4) Poly cyclic hydrocarbons. 
5) Vinyl chloride


29) Which of the following tumors typically containe Epstine-Barr virus:
1) Burkitt lymphoma
2) Squamous cell carcinoma of the lung
3) Squamous cell carcinoma of the cervix
4) Glioma of the brain
5) Leiomyosarcoma of the uterus .

30) The best definition for desmoplasia is :
1) An in situ carcinoma
2) Carcinoma which has been confined to within a basement membrane . 
3) The induction of the fibrous response by malignant cell.شاكة انها هذه
4) The heterogeneity of pulmonary neoplasma.
5) The ability of tumor specific membrane receptors to localize glycoprotein.

31) Which is the following finding is most useful for the staging of a tumor:
1) Presence of mtastases
2) Presence of necroses 
3) Pleomorphism of neucleic
4) Number of mitosis
5) Presence of abnormal mitoses

32) Benign tumor arising from the salivary gland epithelium are called : 
1) Adenomas
2) Fibromas
3) Papillomas
4) Polyps
5) Transitional cell epitheliomas.

33) Chondroma of the larynx is a :
1) Tumor of epithelial origin
2) Precaursor of carcinoma
3) Precaursor of leiomyosarcoma
4) Tumor of cartilage
5) Soft tissue sarcoma



34) A benign tumor composed of smooth muscle cells is called:
1) Rhabdomyoma
2) Leiomyoma
3) Myxoma
4) All of the above5) None of the above 

35) The major anatomical target of lead toxicity include all of the following except: 
1) Blood
2) Nervous system
3) Gastrointestinal system
4) Liver 
5) Kidneys

36) Manifestation of acute cocaine toxicity include all of the following except :
1) Lethal arrhythmia
2) Myocardial infarction
3) Chromosomal damage in somatic and germ cell .
4) Cerebral infarction and hemorrhage 
5) Rhabdomyolysis with renal failure .

37) People with a chronic alcoholism suffer significant morbidity damage include all of the following except:
1) Liver (cirrhosis)
2) Gastrointestinal gastritis
3) Central nervous system( wemick-korkooff syndrome) 
4) Cardiovascular system( dilated congestive cardiomyopathy).
5) Respiratory system(lung cancer)

38) The following factors is important macrophage into epithelioid cells and multinucleated giant cells:
1) IL2(interlukin2)
2) TNF(tumor necrosis factor)
3) IFN (interferon )
4) P53
5) IL12



39) The following are correct about lepromatous leprosy except:
1) Damage to the nervous system is due to invasion of the mycobacterial into the schwann cells .
2) Large number of bacilli are noted in this type of leprosy. 
3) The classic histological picture is the presence of sheets of histiocytes (macrophages) involving the dermis. 
4) The basic immunological abnormality in this type include increase number of CD4 and T helper cells .
5) These patient are usually allergic to lepromin skin test.

40) The products of the p53 antioncogene is a nuclear protein that regulates DNA application and prevents the proliferation of cells with damaged DNA by stopping their cell cycle:
1) Between G1 and S
2) Between G2 and M
3) Between M and G1
4) Between S and G2
5) During G3 


16-All r cancer except
- Mesothelioma
- Melanoma
- Lymphoma
- Leiomyoma

12-burkitt lymphoma is cause by any gene:
- MYC
- ABL
- Tp53
- RAS
- RB

13-Pt come to ur clinic with difficulty in micturation & prostatic enlargement the most likely to be is:
- Hyperplasia
- Dysplasia
- Metaplasia
- Atrophy

14-paraneoplastic syndrome is 
- 2ry to metastasis
- 2ry to local effect of tumor in surrounding tissue
- E.g hypercalcemia is associated with parathyroid carcinoma
- Mostly endocrinal in origin
- Lung east dependent in this

15-mesothelioma is most likely to happen in :
- Asbestos
- Benzene
- Vinyl chloride

Chronic myloid leukemia problem is:
- t(9,22)
- t(8,14)
- t(14,18)
- deletion

41-one of the following cancer is associated with EBV :
- Nasopharynx
- Gastric cancer
- Lung cancer

42- one of the following is the best determination between malignant & benign tumor:
- Metastasis
- The size of original tumor

43-hyperplasia is:
- Increase size of cell
- Increase 

1- All of the following is phase I reaction except: 

a- Oxidation

b- Reduction

c- Hydrolysis

d- Sulphate conjugate     



2- malignant hyperthermia is treated by: 

a- Dontrolene

b- Succinylcholine

c- Vecuronium

d- Hyoscine

     3- Al Zheimer's disease is treated with: 

        a- Donepezil      





        b- Atropine

        c- Methacholine

       d- Benzedil 

4-Drug used for diagnosis of myasthenia gravis : 

a- Edrophonium





b- Neostigmine

c- Atropine

d- Pilocarpine
      5- A drug have PH = 10 is best absorped in :

      a- stomach

      b- intestine 

      c- a & B

     d- non of the above

6- one of the following is true regarding Sublingual administration :

     a- used in large doses

     b- used in ER
     c- food drug interaction

     d- destroyed by  stomach PH

7- all the following are liver microsomal inhibitors except :

    a- cimteidine

    b- ketconazole

    c- probencid

    d- phnytoin

8- All  of the following will stop action of drug except:
· Metabolism

· Excretion

· Redistribution

· Enterohepatic recirculation

 9-Plasma half life of drug is the time which is required to:

· Decrease blood concentration of drug to the half

· Reach steady state

· Give 50% response in the indivisual

· All of the above

10 - Hyosine differ from atropine in that :

· It stimulate vagal nucleus more

· Less contraindicated in glaucoma 

· Induce more bradycardia 

· Has more sedation & amnesic action

*** T & F Questions :

1- Atropine is contraindicated in : 

a- Intestinal colics    




( F )

b- Glucoma






( T )

c- prostatic hypertrophy


 
            ( T )


d- constipation 





( T ) 

2- Idiosyncrasy : 

a- genetic disorder



(  T )

b- Unpredictable



(  T )


c- Not related to pharmacological action
(  T )


d- Is an antigen-antibody reaction

(  F ) 

3- Antagonist : 

a- Lack intrinsic effect                ( T   )





b- Can bind to receptor               (  T  )

c- Blocks the action of agonist    (  T )

d- Has no affinity                       ( F  )
      4-   Drug Bound to plasma protein:  
· Is metabolized in liver 


(F    )

· Is pharmacologically inactive 

(  T  )

·  Is easily enter capillary bed 

(   F )

· Can be distributed easily 

(   F )

5- Bethanechol :

· Cause contraction in GIT muscle 
(  T  )

· Decrease heart rate 


(  T  )

· Contraindicated in urinary retention 
(  F  )

· Cause bronchospasm


(   F )

6 -Hyosine

· Cause diarrhea 



( F   )

· May cause amnesia 


(  T  )

· Short duration                                              ( T   )

· Cause bronchospasm                                  (  F  )

7- Neostigmen :
· Is readily cross blood brain barrier 

(  F  )

· Is contraindicated in myasthenia gravis 
(  F  )

· Irreversible inhibit Ach esterase 

(   F )

· Short duration of action                                 (    )

8- -Drug metabolism:
· Effect its own metabolism 




(  T  )

· Decrease its water solubility 




(  F  )

· Important for prodrug to act 




(  T  )

· Active drug can be converted to another active drug 
(  T  )

Match 1:  

a- Potency


b- Prodrug

c- Loading dose

d- Maintainance dose

1- is a measure of how much drug is required to elicit a given response.

2- Pharmacologically inactive.

3-  Large initial single or multiple doses are given for some drugs to achieve a rapid steady state concentration.

4- Dose used to maintain the steady state concentration.

Match 2: 

a- cevimeline.

b- Hyosinbutylbromide 

c- Bethanecol

d- Benzatropine 

e- Ipratropium bromide

1- sjorgeren's syndrome

2- Antispasmodic

3-  Urinary retention

4- Parkinsonism
Note :

1-  Hyporeactivity

2- Idiosyncrasy

3- Tolerance

Always come in exams (
Hypersensitivity





Disease processes and tissue damage are due to Type II Type III and Type IV hypersensitivity reactions.




هاااااااام ^^^^

type 1

Immediate minutes
IgE
Anaphylactic reactions
excessive production of histamin which will cause vasodilation lead to anaphylactic shock
SOOOOOOOO its are non - IgE mediated
Atopic is the person who develop an allergy to a special allergen that most of the people aren’t allergic to it 
tend to run in families 
Persons with atopy, by contrast, produce an exaggerated
response characterized by production of : 
allergen –specific IgE antibodies(is هااام

Phase I : 
- Sensitization phase. 
Allergen enter tissues , induce an
immune response. B – cells transform
to plasma cells & produce IgE.




phase 2

the Mast cells to: 
“ Degranulate”
(release mediators into the area of reaction).



There are 2 types :

1. primary mediators

2. secondary mediators



هاااااااااااااااااااااااا ااااااااااااااااااااااااا ااااااااااااااااااااااااا ااااااااااااااااااااااااا ااااااااااااااااااااااااا اااااااااااام انبح صوتي [image: image6.png]




Primary mediators. وال secondary بتجيييييييييييييكم اثنينها روحوا راااجعوها الحين [image: image7.png]






Allergic rhinitis.
- Allergic asthma.


complication of type 1

Vasodilatation and increased capillary 
permeability 

* Edema

* Vasoconstriction (arteries and arterioles)

* Bronchoconstriction

* Increased mucus secretion





Diagnosis:-

Skin prick test (SPT)
Intra-dermal test

Specific IgE measurement (RAST)

Challenge test (Nasal, Bronchial)


Elimination / Provocation test (Food allergy)



اذا نقلنا فصيل دم لواحد فصيلة دمه غييييييييييييير راح يجي اول شي IgM [image: image8.png]


<< تحمست [image: image9.png]








Types I , II and III :

are mediated by antibodies .
( The complement system become activated & contribute to tissue damage ).



Type IV :
Is generated by cell-mediated immune 
(mainly T helper cell ) responses. 
( no complement activation ) 
(in chronic inflammation)








طيب نبدأ ب 


type 2

(4-8) hours to days 
IgM & IgG mainly


تذكروووووووووووووووا IgG هو ال maaaaaaaaaaaaainly :P


Antigens 


Attract neutrophils and other مو مثل النوع الاول فيه mast cell & basophills انتبهوا !
inflammatory cells.

destroy of antigen and tissue

طيب لا تنسوا معنى


Antibody receptors ----- (Opsonic - adherence).





 C8, C9.(Activation of complement 

- Membrane attack complex 
(MAC)




هاااااااااااااااااااااااا ااااااااااااااااااااااااا ااااااااام
1. Incompatible blood transfusion (ABO)
(massive intravascular hemolysis of RBC) هاااااااااااااااام
It is either:
-Immediate reactions-IgM mediated هااااااااااااااام
-Delayed reactions-(2-6 days ) IgG mediated هاااااااااااااااااااااااا اااام

Hemolytic disease of the new - born (HDN) هاااااااااااااااااااااااا ام
Myasthenia gravis 
Antigens of streptococcus 






Diagnosis:- 
- Detection of antibodies and antigens by Immunofluoresence 





Type III Hypersensitivity
(4-8) hours to days 
mediated by IgG or IgM
- Soluble antigens (not fixed) هاااااااااااام عكس النوع الثاني انتبهوا !!!!!!!
- Immune – Complex formation هااااااااااااااااام
- Complement activation





Complexes deposit in blood vessels and tissues and result in vasculitis , arthritis …et
Two main types :



شوووووووووووووووووفوووووو ووووووووووووووووا ترا وحده انتيجن ووحده انتي بودي !!! انتبهواااااااااااا !!!




1. Complexes with antibody excessهاااااااااااااام, (high antibody &low antigen) are termed Arthus – type reactions ( localized ) هاااااااااااااااااااااااا اااااااااااااااااااااام 

2. Complexes with antigen excessهااااااااااااااااااااا ااااااام,(low antibody &high antigen) are termed serum – sickness reactions هاااااااااااااااااااااااا اااااااام ( systemic ) , for these reason when you get snakebite the treatment by give you horse serum filled by
antibodies for the venom(antigens) . هاااااااااااااااااااااااا ااام





Autoimmune disease, (self – antigens )

Chronic infections, (microbial antigens)

3. Cancer, (tumor antigens)

Drug reactions, (chemical haptens )



diagnosis by Immunofluoresence 








Type 4


2 - 4 days. ( delayed ). 


cell-mediated (CD 4 T-cells) 
- activated macrophages 
- delayed - onset (2 – 4 days) 
- secondary abnormal cellular responses 

- granuloma formation 



Four subtypes :
1. Basophil H/S (Jones-mote reaction)

2. Contact sensitivity (chemical antigens)
.
3. Tuberculin reactions (Mantoux test)

4. Granuloma formation 



Sensitized CD 4 Th1-cells recognize antigen
ركزووووووووووووووووووا انتيجن !!



ممكن يصرلك الامراض


Chronic infections :
- T.B.
- leprosy 
- fungal infections 
-parasitic infections

2. Contact dermatitis 




كيف تشخصه ؟


Delayed skin test 

2. Patch test هاااااااااااااااااااام نستخدمه عشان ال contact dermatitis هاااااااااااااااام

3. Lymphocyte transformation test
(blood test)
( detection of activation markers by flow cytometry )



؟؟




Type 4 activaaaaaate macrophage 


plasma cell م ااااااااااااااااااااااااا ااااااااااااااااااااا تكون قرانيلوما NOT [image: image10.png]










Functional inactivation = clonal anergy









1/ which of the following is not an APC:

a)macrophage.

b)dendritic cell.

c)B lymphocyte
d)T lymphocyte.

e)langerhan's cells in the skin.

2/Wich one of the Igs can cross placenta:

a)IgG.

3/All are features of macrophages EXCEPT:

a)APC
b)phagocytic
c)produce cytokines.

e)secretes immunoglobulins

e) interacts with antibody.

4/T lymphocytes"school" is:

a)thymus.

b)bone marrow.

c)fetal liver.

d)tonsill.

e)thyroid.

5/All are fearures of NK cells EXCEPT:

a)phagocytic.

b)anti-tumor activity.

c)stimulated by activity.

c)stimulated by IL-12.

d)activated by interferons.

e)anti-viral activity.

6/B cell is located in the lymph node in:

a)cortex.

b)paracotex.

c)medulla
d)trabeculae.

7)Regarding cytokines all of the following are true EXCEPT:

a)they are low MW proteins.

b)they act with surface receptors.

c)are long acting mediators.

d)regulate inflammation.

8/Ab diversity is mainly due to:

a)different amino acid sequence in the hypervariable loops.

9/Ab having the same No. of domains:

a)Igm+IgE
10/Ab released during primary immune response:

a)IgM.

11/MHC 2 encode:

a)HLA-A+ HLA-B
b)HLL-A+HLA-C
c)HLA-D
12/When a microbe by-passes natural immunity:

13/Which of the following factors influence immune response:

a)nature of microbial antigen.

b)dose of antigen.

c)rout of entry.

d)all of the above.

e)none of the above.

14)Which organ works against blood-borne antigens:

a)spleen.

15/regarding CD molecules:

a)CD3 is found on all B calls,not T cells.

b)CD1 is found on mature T cells.

c)CD19+CD20 are found on T cells.

d)CD4 is called cytotoxic.

e)CD56 found on NK cells.

16/All are features of complement system EXCEPT:

a)lysis of damaged cells.

b)opsonization of microbes.

c)chemoattractants for neutrophils.

d)participates in inflammation.

e)inhibits cytokines.

17)The FcV potion cosists of:

a)Lv+Hv
18)Regarding(GM-CSF)choose the correct answer:

a)used in bone marrow transplant

جا سؤال يقول 

all the following are causes of Acquired immunodeficiency Diseases


الخيارات :

- Malnutrition
- Certain Viral infections
- immunosuppresseve drugs 
X-irridation
elevated serum cholestrol


،،


جا سؤال عن الـ X-linked Hyper-IgM syndrome وكان جايب الفيتشرز حقته و يقول طلع الجملة الخطأ 
و كانت

Normal CD40L in T-cells 


،،


جا شئ عن الـSelective immunoglobulin deficiency
و أنه الـ igA هو الأشهر أو الأكثر شيوعاً الظاهر مدري نسيت [image: image11.png]




،،

جاب لك حالة واحد عنده فك بشكل آب نورمال و عنده علامات الـ الدايجورج سيندروم ، و قال لك وشو اللي المفروض يكون من ضمن الديفرينشيال دايقنوسسز 

وحاط لك عدة أمراض منها الدايجورج سيندروم

،،


تكلم عن الـ LAD وقال لك الديفيكت في ايش ؟ طبعاً في الكيموتاكسس

،،

جاب شئ عن الـ Chronic granulomatous disease
وقال لك الديفيكت في ايش ؟ 

،،

ضروري تعرف مثل اسمك أن الـ Hereditary angioedema سببها نقص في الـ C1 inhibitor 
تكررت مرتين بالاختبار ، مهم جداً

،،

جاب لك سؤال وقال ايش الاختبار ( الأدق - more accurate ) لقياس الاميونوجلوبيولين و الكمبليمينت بروتينز ، انتبه لا تجيب العيد و تكتب SRID ، الاجابة الصحيحة هي Immunonephelometry لأنه سألك عن الأكثر دقة 

،،

جا سؤال ويقول وشو اللي الاختبار اللي يسوي enumeration of lymphocytes in the
peripheral blood

و الجواب طبعاً هو الـ Flow cytometry

،،


ورد سؤال يقول وشو الاختبار اللي يقيس الـ functional activity of the
complement system

و الجواب هو CH 50 test 

،،


كأنه ورد أسئلة عن الاميونوسبريشن ، بس حنا أخبرنا بأنه محذوف ، بس كأني اليوم شفت أسئلة عنه و كأني جبت العيد و كأني [image: image12.png]


لذلك صم أبوه [image: image13.png]




،،

محاضرة الهايبرسنسيتيفيتي جا عليها أسئلة بالهبل [image: image14.png]



ضروري تحفظ أسماء كل نوع مثل اسمك 

،،

اعرف انه التايب ون IgE
و التايب اثنان هو IgG
و التايب ثلاثة IgG or IgM

،،

جا سؤال يقول

all of the following are secondary mediators EXCEPT
و الجواب كان الهيستامين حيث أنه برايمري 

،،

جا سؤال عن الـ effects of the mediators و السؤال كان استثناء بس نسيت الخيارات والله 

،،

جا سؤال عن الـ Anaphylactoid reactions و أنها Non-IgE mediated

،،

جا سؤال عن أن الـ SPT يستخدم لتشخيص تايب ون هايبرسينسيتيفتي ( مشوار هالكلمة [image: image15.png]


)

،،

جا سؤال يقولك انه في حالة نقل فصيلة دم خطأ ، فيه تفاعلان ، تفاعل فوري و تفاعل متأخر ، الفوري من المسؤول عنه ؟ الجواب هو IgM

،،

جا سؤال عن الهيمولايتيك ديزيز أوف ذا نيو بورن و كونه Type 2 Hypersensitivity reaction

،،

جا سؤال عن الـ Complexes with antigen excess و انه اسمها هو serum – sickness reactions 

كما انه جا في الخيارات لاكثر من سؤال الآرثس تايب ...

،،


التايب فور يسوي آكتيفيشن للماكروفيجيز [image: image16.png]




،،

جا سؤال عن الخلايا المكونة للقرانيولوما ، وكان يبي اللي موب من ضمن الخلايا المكونة و هي البلازما سيلز 

،،

اعرف مثل اسمك ان الكونتاكت ديرماتايتس تبع التايب فور و اننا نستخدم الـ Patch test to diagnose it

،،

جا سؤال عن المدة التي يستغرقها الـ SPT وهي من 10-15 دقيقة 

،،

اعلم رعاك الله أن الـ Functional inactivation = clonal anergy

< تراه سؤال [image: image17.png]




،،

هذي الثلاث معلومات تكررت بالهبل سواء كخيارات أو كأسئلة :

Most of the autoimmune diseases attributed to autoantibodies.

Other autoimmune diseases have an autoreactive T cell component.

Disease processes and tissue damage are due to Type II Type III and Type IV hypersensitivity reactions.


اعلمها علماً راسخاً

،،

في محاضرة الاوتواميون أيضاَ ، اعرف كل تايب و المرض اللي يندرج تحته ، اللي هي الجدوال بالسلايدز ، مثلاً الروماتيك فيفر هي اوتواميون ديزيز تبع التايب تو ، و كذلك جا سؤال الروموتويد ارثرايتيس هو تبع التايب 3 و التيب 4 

بالعربي ، احفظ الثلاث جداول [image: image18.png]



جا عليها اكثر من سؤال وخيار

،،

اعرف آلية مرض قرايفز Grave's، وهو انه الاوتوانتيبيدي يشبك بالـ TSH receptor ويقعد يخلي الغدة تفرز الثايرويد هرمون بلا تغذية راجعة [image: image19.png]


( الله يذكر المصطلحات بالخير [image: image20.png]


سقا الله ذيك الأيام [image: image21.png]


)

،،

كذلك سؤال عن آلية مرض الـ Myasthenia gravis


،،

جا سؤال عن التصلب اللويحي المتعدد ( الام اس ، المملتبل سكليروسسز ) و ان اللي عندهم الجينات DR2&DR3 معرضين أكثر للاصابه بالمرض 

و لا تنسى ان اللي عندهم DR4 هذولا معرضين اكثر للاصابة بالـ RA

،،

جا سؤال يقول all of the following are Sequestered Antigens EXCEPT

و سدح لك الأربع أمثلة المكتوبة بالسلايدز وواحد شاذ وبايخ واضح على طول نسيت اسمه [image: image22.png]


على طول بتعرفه كونك حافظ الاربعة [image: image23.png]




الاربعة هم :

Myelin basic protein 
Sperm-associated antigens 
Lens and corneal proteins
Heart muscle antigens

الخامسة هي الخطأ [image: image24.png]




و تذكر أنه هذي الانتيجينز تظهر بعد التروما او الانجري 

،،

هذي المعلومات أتذكر جا عليها سؤال بس ما اتذكر صيغته او محتواه :

Autoimmunity can be caused by immunological, genetic, viral, drug-induced, and hormonal factors.
There are 4 immunological mechanisms of autoimmunity.
All mechanisms cause abnormal B or T cell activation.
Most instances of autoimmune diseases occur with multiple mechanisms, which makes treatment difficult.


،،


هذا سؤال [image: image25.png]



Xenograft between different species

،،

اعرف نخاع العظم و الـ GVHD وكذلك كونه Donor T cells see recipient as foreign
هذا السطر عبارة عن سؤالين [image: image26.png]




،،

أتذكر حالة جت و معدل عليها كلمة يغير الحل كله [image: image27.png]






A 45-year- old woman with end-stage renal disease due to diabetes mellitus, underwent renal transplantation. She received a kidney from a living, unrelated donor. Approximately TWO WEEKS after transplantation, the patient’s urine output and kidney function decreased. She developed tenderness, pain, and swelling at the graft site. In addition, she had nonspecific symptoms that included fever, decreased appetite, and myalgia (muscle pain).


نظراً لأنها اسبوعان فهنا Acute ، لو قال لك شهران تقول chronic
يعني يقدر يغير على مزاجه ، لا تصم الكيس صم ، افهمها الأول
1. Iron,

a. is stored as hemosidrin.

b. Large MCV is caused by deficiency in iron.

c. If deficient, it causes macrocytic anemia.

2. Deficiency of Vitamin B12 is characterized by all of the following except,

a. low conc. Of Hemoglobin in a red blood cell.

b. Reduced mean corpuscular volume.

Macrocytes in the peripheral arteries
3. Regarding the Osmotic pressure, it is

a. The pressure that prevents passage of water from a fluid to the other.

b. Pressure that transmits molecules from a high to low pressure compartment.

c. If the osmolarity differs in both compartments, this pressure equals Zero.

d. Is affected by the electric gradient between the two compartment.

4. The red blood cells will shrink and lose the water if it is put in which solution,

a. 9% of saline solution.

b. 5% of glucose.

c. 2.5% of glucose.

d. A and B.

e. In a hypotonic solution.

5. Regarding the Sodium-Potassium pomp, it

a. needs ATP.

b. Not found in all cells.

c. Transmits two sodium out and three potassium in.

d. Needs glucose as cotransporter.

6. In order to measure the total blood volume, the indicator is

a. Heavy water ( deuterium ).

b. Inuline.

c. Evan blue Dye (T1842)

1, regarding reticular fibers,

a. contain protein.

b. secreted by the endothelium
c. form bundles.

d. it forms the lamina lucida
e. collagen IIV
2. Regarding the loose areolar CT, it contains all of the followings except,

a. reticular fiber

b. fibroblast

c. abundant collagen fiber

d. elastic fiber
e. adipose cells

3.Regarding the veins, all are true except

a. medium sized venis possess valves.

b. Tunica adventita contain smooth muscles cells.

c. tunica media possess an internal elastic lamina.

d. Subendothelial tissue in large veins is loose.

e. large venis contain vasa vasorum  in their adventitia.
4. the spinal ganglia possess all of the followings except,

a. sensory

b. contain axon fibers

c. bipolar neuron

d. The cell bodies enveloped by collagenous capsule.

e. The cell bodies surrounds by satellite cells 

5. Regarding the peciniene corpuscles,

a. it is a chemical receptor.

b. contains sensory nerve endings.

c. contaisn pain receptor.

d. it has astrocytes.

e. contains unmyelinated nerve terminal

6. The endomysium,

a. surround the muscle fibers

b. surround muscle bundle 

c. surround the whole muscle 

d. loose CT

7. Regarding the tunica intima, all are true except, 

a. contains smooth muscles.

b. secrete collagen.

c. forms valves.

d. has No basal lamina
e. the subendothelial layer has scattered smooth muscle fibers.
8. Regarding the spleen,

a. contains marginal zone located between the corona and germinal cells.

b. contains regular trabeculae.

c. it has secondary lymphoid nodules.

d. it has afferent lymph vessel
9. Regarding lymph nodes,

a. the medulla contains lymph nodules.

b. paracortex houses T lymphocytes mainly.

c. HEVs found in the nodules

10. Regarding the thymus cortex, it has all the followings except,

a. epithelial reticular cell

b. macrophage

c. T-lymphocyte

d. continuous capillaries 

e. hassall's corpuscles 

11. Regarding the antigen presenting cells, it includes,

a. T lymphocytes.

b. B lymphocytes.

c.  dendritic cells.

d.  Epithelial reticular cells.

e. macrophage 

12. Regarding the pericytes, all are true except,

a. differenciates into smooth muscles.

b. contractile.

C. linked by gap junction to the endothelial cells.

d. differentiates into endothelial cells.

e. it does not have basal lamina. 

13. Regarding the sinusoidal capillary,

a. has fenestrae.

b. regular channels .

c. smaller in diameter than continuous capillary

d. continuous basal lamina.

e. continuous endothelial cells.

14. Regarding the peripheral nerve, all are true except,

a. contains myelinated.

b. contains unmyelinated.

C. contains sensory and motor axons.

d. the epineurium is made of loose CT.

e. endoneurium surrounds individual nerve fibers & has loose CT

15. Regarding the central arteries are sheathed by,

a. Macrophages.

b. T- lymphocytes

c. B lymphocytes.

d. Reticular fibers.
16. Regarding smooth muscles, it

a. has no sarcomere
b. it can divide

c. it doesn't have system of T tubules

17. Regarding intercalated disks, it possess,
a. fascia adherentes

b. zonula occludent

c. gab junctions

d. tight junctions
18. Regarding skeletal muscle triads, all are true except,

a. has only one terminal cisternae.

b. present at each A-I junction

19. columnar epithelial cell has all the following except,

a. tight junction 

b no desmosomes

c basal lamina

20. mitochondria have all the following except,

a. DNA

b. ribosome

c. single membrane

d. cristea

e. ability to divide 

21. regarding the cardic muscle which one is wrong

a. it has a gap junction 

b. it's fiber form anastomosing network of branching cardiac muscle 

c. the dyad system of T tubule is present 

d. has dense bodies

e. fascia adherents analogous to every disk 

22. which one of the following is wrong about the sarcomere,

a. myosin attach to Z line

b. actin found in I band

c. myosin found in A band 

d. M line found in H band 

e. it's the region between two successive Z lines

23. Regarding the epiphysial plate,

a. increase the length bone 

b. it is  an appositional growth

24. according to the synapses which one is wrong,

a. gap junction permits free movement of ions from one cell to another

b. electrical synapses are the most common

c. chemical synapses need transmitter 

d. impulses transmission is much faster across electrical synapses than across chemical synapses

25. regarding tonsils which one is true,

a. palatine tonsils has cortex and medulla

b. frequently the lymphoid nodules hasn't germinal center in lingual tonsils

c. It has lymphoid nodules in it's parenchyma

26. according to the neuroglial cells which one is wrong,

a. protoplasmic astrocyte has many short branching process

b. fibrous astrocyte are long and mostly 

c. oligodendrocyte form blood-brain barrier

d. it forms a myelin sheath around some axons in both the CNS and PNS

e. microglial cell are small, dark staining 

27. regarding the neuron which one is true,

a. some axons have collateral branches

b. it has Nissl bodies in all part

c. has almost chromatin
